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Question Number : 1 Question Id : 9683555784 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not invariant in Galilean transformation?
AODOHND Errods PGS’ AFEIA?

Options :

1. %



Mass
Q&ﬁéﬂ‘%

Force
2. % (AL s

Velocity
oo

Acceleration

@gdmc
4.%

Question Number : 2 Question Id : 9683555785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At what speed. the mass of an object will be the double of its value at rest? (c 1s velocity
of light)
» o 3¢ 28 R0 IR o T8 3eheiy 93008

Options :



Question Number : 3 Question Id : 9683555786 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At what velocity of the rocket its length appears to be 90 m whose actual length 1s 100 m.
28 088 Jé 100m eond 2 ddo 3¢ & TEH 90m ™ $JecoRn!

Options :

val

J

Question Number : 4 Question Id : 9683555787 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In case of central force field which is conservative
& 306 T89S ZolHob B ZHodS” QB[S0 DD Daoed?

Options :

Energy

33
1. %



Angular momentum
Eedob gadro

Linear momentum
Qb&ﬁﬁo
3. %

All the options

\ @5&3}8)9&1}

Question Number : 5 Question Id : 9683555788 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If U is the potential energy for a conservative system.which of the following equations
are true?

28 (3] Edo owg) N3 38 U, wowd & dobd O 2330 267

Options :

F=VUand VXF=0
F=VU28a0bVXF =0

1_23
F=VXUand V.F=10
F=VXU28aci0nV.F =0
2. %
F=-VUand VXF =0
F=-VU8c30VXF =0
3.¢

4, ®



F=-VXUand V.F=0
F=-VXUs8a50V.F=0

Question Number : 6 Question Id : 9683555789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The periodic time of venus is 224 days and for earth 15 365 days. What is ratio of major
axts of the orbit earth to venus?

DAR 0ot Brdow 8389 Terey dnre 22450000365 Baey, wond T 8o

W), B BT WG dod?

Options :

Question Number : 7 Question Id : 9683555790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Find the value of “a’. if the vector ‘A= (2ax) 1— (4y) j + (v) z’ 1s solenoidal
‘A= (2ax) 1-(4y) ] T (V) 2’ 003 267 FoTrond ©ond ‘A’ ded dod!

Options:



-2

Question Number : 8 Question Id : 9683555791 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A=2a1 +4j and B=2i+2j, if these two vectors are perpendicular what is ‘a’ value?
oty PAFA=2al + 4] 208050 B=21+2je0 wotiorr &ofd ‘a” Dend dod!
Options:

4

Question Number : 9 Question Id : 9683555792 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is the area of parallelogram with adjacent sides of vectors A= +j+k and
B=2i++2k?
0ot M3 A= 1]tk 300030 B=21j+2k 0y 27030 ehdathyze 008), Totd B0

Foarerr ATy, T TV Jod]

Options :

V6 m
1. ®

V4 m
2. %

xf? m
3. ¢

V8 m
4. %

Question Number : 10 Question Id : 9683555793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Rutherford scattering the number of particles (N) scattered per unit area is proportional
[0
6red J'6 HBEDV0 dodd, AP FF[o Mot HOZIV0 Bed TR Mow|(N)& DG

267

Options :
1
N o —s
s:’n‘t‘(?)
1.¢ =

2.



N «xt

Question Number : 11 Question Id : 9683555794 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many times the kinetic energy will be raised, if the momentum is doubled?
w8 Steo AWS) @) DT 0oy B &) (G285 ) T DAdSE?

Options :

20

Question Number : 12 Question Id : 9683555795 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In perfect elastic collision between two equal masses, one body 1 at rest and the another
is moving. What s the angle between the two masses after the collision?

AT B30 0 &) B SRPY A6y BB 33@.3‘;’35 edardo #0008, THS'
ug GIT3 iy 208" 638, edirdo dhTd T8 2 0 dod!

Options :

1% 30°

60°

Question Number : 13 Question Id : 9683555796 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Angular momentum is conserved, when
& 308 TIHD oGy oes FoDh BIDAD DSBS

Options :

External torque is zero

ee &) BIPR(o
TS o, ey

External force is zero
aﬂzﬂs eido waso
2. %



At constant velocity
DG Do DG
@ @

At constant momentum

26 @35 Do I
4 % @ % &

Question Number : 14 Question Id : 9683555797 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The product of moment of inertia and angular acceleration is equal to
2GS TSe 2B0N0 Fioh SO VLA & $od THS" B DAFIO!

Options :

Work
e

Force
BN

Torque

(e
3. b

Pa_llglllﬂl' momentunm
Srdah B3] Drso
4. %

Question Number : 15 Question Id : 9683555798 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

If 1. I, and I, are moment of mertia about x. y and z axes. Then perpendicular axis
theorem states that
X, ¥ 208080 26970 D60 6 &rusred SR, [ 28omol; ond veer &

NgPedo 500
@

Options :

Question Number : 16 Question Id : 9683555799 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is not the characteristic of simple harmonic motion?
& $o& TES° 2. Ir. W W) LAVEH TIQ AT

Options :

Motion 1s periodic
. 3008 wWLRo



Acceleration is proportional to displacement
Nl gvmggcémné 93085 AT RVT Dot ot

Acceleration towards the mean position

SO0 TGS FVo DY &t
3. % '

Motion is not in straight line

(a0 ;jrgo AOY 0 AFCo T°Ew
4. ’ ;

Question Number : 17 Question Id : 9683555800 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s the frequency of kinetic energy when the particle is executing SHM with
frequency “f?
28 o TIQYVed R 12 Sawedod) & wowd od ddn 3§ o)

F1dje Dod?

Options :

Y]
=
[



Question Number : 18 Question Id : 9683555801 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A spring of spring constant 196 N/m is loaded with a 4 kg mass and allowed to oscillate.
What 1s its frequency?
Aol oreso 196 NIl 80 28 sy 4 kg @amad Serdawd, ©ad 3)ohé'

S0 im::wo?
Options :

|« 044 Hz

Question Number : 19 Question Id : 9683555802 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The formula for the quality factor 1s
e eras S Ardo Do)

Options :
]
Q=2m
’ Wz—w]
1. %
L
Q=
ik



Question Number : 20 Question Id : 9683555803 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What 15 the condition for critical damping in the damped harmonic oscillator?
d’ d
(—=+ 2b —+w*x=0)
dt dt

o dl d ,
0306 Eugo G, Vol BIHTOS Jobdse HE? (?ﬁ 2b §+ w*x=0)

Options:

Question Number : 21 Question Id : 9683555804 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following equation represents the differential equation for forced
harmonic oscillator?

o $08 TS LLrdAEVTIS BAVD VL6

Options :

dzx
— 4+ w?x=0
dt2

1. %
dZx dx -
= Zh——t@wrx=0
dt dt
2. %
d’x dx iy, -
>+ 2b —+w x=1fsinpt
dt dt
3.v¥
d?x dx :
— + 2b —={fsmpt
dt dt
4. %

Question Number : 22 Question Id : 9683555805 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Velocity (v) of longitudinal wave in a bar 1s
2.8 4ae° DGE VROFG SCorrud DB
73 ey

Options :

x VY



Depends on shape and size
295700 00l DOOTOL D eSTPTEIND

3. %

Independent of Y and p

4% Y. p wp espordoead

Question Number : 23 Question Id : 9683555806 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is not the suitable statement in the case of longitudinal vibrations of a bar fixed
at one end and free at other end?

252 Dotsand B 2R DY ddvadad) Sad’ A6\ SRUBG,

SGomoL) Aotofot) AOALIG TAE A&7

Options :

Only the odd harmonics are present

- 80 AT S &0

The fundamental frequency is half of the fixed-fixed bar
FEE TR D6 ~C gé FRIDRJeS” Affo &otwod

Even harmonics are only present
3 % 0 BT QPG GOoEFOD.

Same sound 1s observed as fixed-fixed bar.

DO- DO EG DT DA G Doy
4. w/,) G [ [ [=%]

Question Number : 24 Question Id : 9683555807 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What 15 the formula for fundamental frequency of transverse waves in string fixed at
both ends are
Bo PRYer Diors R A" 2IoACE B6aTL FEWE T PTIE Ardo

A

Options :

~| g

=
I
S

-
[l
S8
ST

2. %
ve=af |-
T

3. %
v=21 |=
T

4. %

Question Number : 25 Question Id : 9683555808 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What is the speed of the transverse waves in the wire under the tension of 0.1 kg

(lmear density of wire is 9.81 X10 2 kg/m)
0.1 kggam3§ dereon 848" D6\ 86§ ddome Sdo Jos? (B4 Sk g3

9.81X10~ kg/m)

Options :



1 % S0 m/s

> % 100m/s

1000 m/s

10 nv/'s
4,

Question Number : 26 Question Id : 9683555809 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The fundamental frequency of string is 100 Hz and it is suspended by mass m. When
itis plucked at the mid- point, what 1s its third overtone?

PRV 3"&‘):@&50]00 Hz €933 g &6 m @[3 DTEAHLGR. A
DY TS D6y WP wIGe TH1YIo Jod)
Options :

100 Hz

1. %

300 Hz

500 Hz

700 Hz
4.



Question Number : 27 Question Id : 9683555810 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Bose-Einstein distribution law applies to
.35“53-:3.3}:3;}2):]5@@mwgom&eﬁoﬁﬁru;}sw;o

Options:

Distinguishable.identical.integralspin

(OoBABAR, 8w, DG D\
1. &

Distinguishable.identical.half integral spin

L=

DBeRBAN, w8er, Vo AVG D\
2. ® -

Indistinguishable, identical. integral spin

D oSG, wier, DAG Dy
3. ¢

Indistinguishable, identical. zero spin
D6 BODTIB, 2,87, ATV D
4. %

Question Number : 28 Question Id : 9683555811 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rayleigh-Jean's law explains the emission from the black body at
7 D W), DICEFON TH-ADy Argo O FodoeS® Db

Options :

1. %



All wavelength
ol d8on Zore 8
(=8 i ToE [

Shorter wavelength region
#5030 don Fovre &8
= bl - Q

Longer wavelength region

QBN SBoil Jorre 3¢
3. N

Micro wavelength region
DOEGE Frotioes”

Question Number : 29 Question Id : 9683555812 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

By using which principles, 0 K temperature can be obtained
éaéo&ba’}@s‘_’aeﬁ"’[) Kaﬁggamﬁ"mm&?

Options:

Joule-Kelvin effect

- a@’“ﬁ-éﬁ}s& S0

Evaporation

SN R R
2. %

Freezing mixture
dcgfseg B0
3. %



Adiabatic demagnetisation

QBN S DoaDar) oBs6e
4,

Question Number : 30 Question Id : 9683555813 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Stefen-Boltzman law, the energy density of radiation 15 proportional to
23;35-33‘9&5303@@?5& 2EER G0N0l DUNEANSEAIN. BISHY P ot

otwod ?

Options :

Question Number : 31 Question Id : 9683555814 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Everybody emits and absorbs radiant energy continuously as long as its temperature
is above absolute zero™ 1s statement of
“K agge:asfaeﬁas%aaggmgaaag@a@@smwm 13)or 622 60, GTT)

RA0” SN0



Options :

Newton’s law of cooling
SO N BRI St
1. %

Kirchoft’s law
%U""{Tf;} ) 800
2. S

Stefen’s law
igh:}im}mo
3. 3

Prevost’s theory of heat exchange
= [ o a8
DI DERIJI odgrode

4.+

Question Number : 32 Question Id : 9683555815 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Planck’s radiation law is
& S0 TS FoS Ddde drdo D!

Options :
8 whce di
Bith=—r =
a ehe/kT 1
1. %
Bmhe daa
Bdy=—
A ehe/kT — 1
2. %

8 mhy? dv
E.d, = 3 " ahv/kT
e e -1
3.«




dA
he/kT _
% © cf 1

Question Number : 33 Question Id : 9683555816 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two stars ‘X’ and °y’ radiates maximum energy at 1800 A” and 1200 A” respectively.

What 1s the ratio of absolute temperatures of X and

GRS Ere'x B’y LIIBSCeET @ocoR800 A” 20601200 A’ wand 8
2 )

&gﬁ@&: AR 8od (x:y)?
Options :

42

1. %

Question Number : 34 Question Id : 9683555817 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In a reversible heat engine 100% efficiency can be obtained at, if the temperature of
the sink is
w8 egmbo:asagowogoaoml OOF!fbcsg@miJ“ocsm:}éiméagﬁgej



Options :

Equal to that of source
2380 &JEBD VIFVo TP

1, %

Less than that of source

2080 &)1 S0l B8 D orrd
2. % A

Absolute zero

DO By & 3
3.¢

Vi &

0

4, % e

Question Number : 35 Question Id : 9683555818 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The co-efficient of viscosity of gas is independent of
TOINDVS” D) (S e BIP BETEDE

Options :

Average velocity
e RO DrHw

Pressure
DEDID
2.V

Absolute temperature
D62 &6



Mass of the molecules of gas

TOINY S ST @073
4, %

Question Number : 36 Question Id : 9683555819 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The relation between the critical temperature (T.) and mversion temperature (T;) of

oas
u$ TAWY ol agﬁga (Ty 080 D& egﬁg@ (T) o Q6] &) oot

Options :

T=T.

Question Number : 37 Question Id : 9683555820 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If the temperature of the sun is doubled, the rate of energy received on the earth will
be increased by a factor of
YN agﬁg@ 0o WONRY)®, AP Aot AP BF ag"’g@ 29) Bey

B o0 gV Ve A

Options :
1. % 2

o % 4

3.339

2.0 16

Question Number : 38 Question Id : 9683555821 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following function represents the Fermi- Dirac distribution law?
& $0B T8 bB&-&mé DS6E AP AT 6 6?

Options :
oy — Gi(E)
n,(E) = m
1. %
_ 5i(E)
n(E) = T
2. &

oy —  9i(E)
0(E) =2



et BE 41

Question Number : 39 Question Id : 9683555822 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The shape of T-S diagram for Carnot’s cycle is
5°0) CeBIIL T-5 AGDLo Gocd eT°EIW

Options :

Rhombus
1 & Dok

Trapezoidal

AeI0R) rfae:’sodae)eao
2. % :

Rectangle

B¢ wBI6R0
3.

Parallelogram
SPebulotalo i nla-bleb) &0
4. % |

Question Number : 40 Question Id : 9683555823 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



10 gm of ice melts into water at constant temperature, the change in entropy is (L =
80 cal/gm)
26e 36 102 S0oSRNETrEE00nSm Aot & Ardydos?

(L =80 cal/gm)
Options :

3.93 cal/lK
W
1.93 cal/K

0.93 callK
3,

2.93 cal/K
4.

Question Number : 41 Question Id : 9683555824 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The relation between Cp. € and C pusls
Cp. T 208050 C ms®) 206§ Doiocse DDEY?
Options :

I:1.12:1.25
1. %



1 1.28:1.25
4. &

Question Number : 42 Question Id : 9683555825 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
. : ar : . .
In Joule —Kelvin effect. if (E )y 18 positive then we will get.
ar .
S~ 39D DOFo Dok, (E )HOT B So e00d

Options :

Heating effect
& 0930

Cooling effect
30 Do

Neither cooling nor heating effect
%0 IS0, & PISo

Either heating or cooling effect
%0 HOBo =V & VIS0 SANVG OB

Question Number : 43 Question Id : 9683555826 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The nversion temperature of hydrogen and helium are respectively.,
TERS 00a e TAWPY IS e dBen SWRT ........

Options:
.80 °C and -120 °C

| x -80 Caodomn -120 °C

240 °C and -80 °C

. 2240 °C28032 -80 °C

-80 °C and -240 °C
-80 “Coveasn -240 °C
3.

120 °C and -80 °C
120 °C 208030 -80 °C
4, %

Question Number : 44 Question Id : 9683555827 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which 1s the Maxwell’s second law of thermodynamics?
& Sob THS AT S 25 ayade DEGEe D7

Options :

G)s = Gy

S\ _ BP
&) =E)y
2. ¥



aT av
. o) = e

av as
E)P = 5)?
4, #®

Question Number : 45 Question Id : 9683555828 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The imtensity ratio of two coherent sources producing interference fringes is 64:1. The
ratio of maximum infensity to minimum intensity is
S[BEEITA) A0\0B Todd Howgd wATY AP G 64:1wand M Hdaio

£33 B0 A3
Options :

v 169

, x o1

. 8:6

16:12

Question Number : 46 Question Id : 9683555829 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Newton’s rings formed due to transmitted light is
A JO0ITed O\Evt] DI0S STod T Hotwod

Options :

Elliptical

BYDyT5" 60
1. %

Hyperbola

e9¢d DT oo

Rings

Seodren
3.¢

As rings due to reflected light
DT°DGD T8 JY DO\E VoI

Question Number : 47 Question Id : 9683555830 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mterference pattern is based on
DO DL Do G0 WIS

Options :

Law of conservation of energy

$S DeHed B
1.¢ = 25

Law of conservation of momentum
G708 DSBS
2. %



Law of conservation of angular momentum
E'doDh SIDE DSBBI0

Travelling of light in straight line
Stodd 2202 mg;_:;“pacifa

Question Number : 48 Question Id : 9683555831 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Interference phenomena was discovered by
S{BE0D D BPNEITY) SAFDY Y

Options:
Newton
:_1305&.}5
1. %
Hygens
ForTa i
2. % &7
Young
oo
3. ¢
Focolt
Jseed
4, -

Question Number : 49 Question Id : 9683555832 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following condition is not essential for interference of light waves?
o) BGorme) a@w:}é dod TOS" DO BIV0AD T?

Options :

Same amplitude
RATD SoDA DOS

Same frequency
RATD TFD1YAfe

Coherent waves
SOolmTe Faosage:a

Plane polarized waves
SO0 RS0 (08200

Question Number : 50 Question Id : 9683555833 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Fresnel diffraction the incident wave 1s
DS DIGIS” DAD BBoa

Options :
Plane wave front

1w R0dY Sdorrdo



Spherical wave front
& Qoo

Cylindrical wave front
"r%?ﬁ"’?d SorTio
3.%

Spherical or cylindrical wave
A oS ‘E’:_mﬂé“?tj SCerT(o

Question Number : 51 Question Id : 9683555834 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The essential requirement for the observation of diffraction phenomena 1
DGV DBYEETIE GokIVID WIS oIV’

Options :

Narrow slit

2D 0de
1.wﬂ”l

Screen

5 % 20

Monochromatic light

NESTSToH
3, % =

White light
3e2)) Stod
4. %



Question Number : 52 Question Id : 9683555835 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Zone plate shows
ED Dus 32 AFrDRE?

Options :

Spherical aberration
FOa DHESDAW

Coma
g0

Monochromatic aberration

5 x DSHY DDEIIW

Chromatic aberration
ag kg b oy B b B

Question Number : 53 Question Id : 9683555836 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Resolving power of a grating increases with
O&oh cng), D68 $6e Efmgg;m BAS DODSE

Options :

Slit width

DL Ao
1. %



Source

230520
2. k3

Lines per unit area
3 % QAL DTS (He Ben

Total lines
4 S0 Bew

Question Number : 54 Question Id : 9683555837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following waves can’t be polarized?
S0& TS DD HVD 0B DG\GTS TeY?

Options :

Gamima 1'51}’5
A SorTen

Radio waves
803 SCoTTen

UV-waves

93 DS IS SGorTe

Sound waves

4w 535.2} SHGoTTe



Question Number : 55 Question Id : 9683555838 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Brewster’s law can be expressed as
D0 oAy 3 DGR

Options :

it =TanP
1.+

Tani = 1/ n

2. %
i = Tany
Tan1 =
4. %

Question Number : 56 Question Id : 9683555839 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One of the devices to produce plane polarized light is
o0& T8 DL GODD 0B VoderdS TE&?

Options :
Nichol prism

DES HLIEID
1. ¢ =

Biprism
&hC} DS
= &



Quarter wave plate

3 % WOTOR SOoff DVSIV

Half wave plate

eal"om) 0ol DLSIW
4.% @

Question Number : 57 Question Id : 9683555840 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Malus law

)
2
c
E’?ﬂ
£
O

- | = IDSillel

I = ICos 6
3_33

L =3RS
4. %

Question Number : 58 Question Id : 9683555841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A calcite crystal is
E“?EQEJJ:}&SDEGS

Options:



Opaque crystal
Eﬂﬁ“dcﬁdgé"n:ge?ﬁo

Biaxial crystal
B0 880

Transparent glass

5“653635:?&

Uniaxial crystal

gﬁ?iﬁDéSo
4.«

Question Number : 59 Question Id : 9683555842 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The spherical aberration is minimum in
& 308 T2 BISHOH DHGSIAW B[O 0L
Options :
Plane mirror

- EaPeblnlh) c:ﬁdgtao

Spherical mirror
Fdod w6 eso

Convex mirror
SIS0 &0 20



Paraboloidal mitror

DT DO GC~E3:00
4. & =

Question Number : 60 Question Id : 9683555843 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Spherical aberration and chromatic aberrations are eliminated in
FO03 DHRD3D 2o 3G IDEDID FVHoWED SLSIW

Options :
Ramsden’s eye piece
T°0y G SHSAW

Hygen's eye piece
STy Se8IW

Kellner’s eye piece
§?.J;}5rd SIS0

Newton’s eye piece
R[4 €830
) J

Question Number : 61 Question Id : 9683555844 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An optical fibre works on the principle of
T Do) DIBD DoK'

Options :



Reflection

| % DT DGR

Refraction

) SEB5D0

Total internal reflection

3 ¢ ROPT0B3 DTG

Interference

;:}Seiasfjeac
4, % L

Question Number : 62 Question Id : 9683555845 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Eddy currents are produced in a material when it is
DG STty wE DECoS” D VoGNS 2Jotid?

Options :

Heated

Py T ahéf-@ﬁm
1. % =

Placed in a time varying magnetic field

STOoS A0 WO o FFod’
2. %

Placed 1n electric field

33633595 Edhoes”
3. %



Placed in uniform magnetic field
DSBS @ij.a‘?jc@ Edod5”

Question Number : 63 Question Id : 9683555846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The velocity of electromagnetic wave is given by
Dy 08 SGorre ST Wrdetd VECHC?

Options:
Mo
=

1. %
€0
Ko

2. %

o o
. 23 U
1
Vv H0ED
4. &

Question Number : 64 Question Id : 9683555847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Poyinting vector gives the
TFowotieh DEF ATVLAE

Options :



Direction of propogation
DT OF

Intensity of electric field

DS £8 82
2. ®

Intensity of magnetic field

. 0T 08 ES DS

Ratio of energy flow

38 DT D
4.4

Question Number : 65 Question Id : 9683555848 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The electric field at a point on the perpendicular bisector of electric dipole is
BID0 E), WA Lordw 36205?5 S8 b0’

Options :
f— 1 qj,'.‘
E=—1L
dmeg r
1. %
— 1 q o
E = -
4mweEy 7
2.
= i grf
e = .2l
4mEp 7



EH

e

%=

=
—

Question Number : 66 Question Id : 9683555849 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Maxwell's equation that represents the solenoidal nature of the magnetic
induction B 13

FoSowé & eI ed TS Voot SN 20680 A

Options :
$E.ds = 2

€
1. % :

Question Number : 67 Question Id : 9683555850 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What 1s the energy stored in the capacitor of capacitance 0.2 F when potential
difference of 2 V 1s applied between the plates
0.2 FSFrde do 2ared0 DUsL $oaidyd & 2 VIEoe H6o @G 26Rd.

©od & SoGG & o &) 38 dod?

Options :

02X 10%¢C
1. %
B
, » 4X10°C
0.04X107C
3. %

4X 107C
4.

Question Number : 68 Question Id : 9683555851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the capacitance of spherical capacitor. whose radius is 9X10° m
9X10° m o0 $DAR w8 Hess SoanG 3T dod?

Options :

1010 F

1. %

, « 10LF

1012F
3.¢



1013F

Question Number : 69 Question Id : 9683555852 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is not the property of equipotential surface?
D2 T'BI0ITS Serw vLe SO0 AT

Options :

Electric flux along the surface is zero

) 334.*:&:5& QO Tw Vos| SVop HTVfo
1. % =

Direction of E 1s normal to this surface

A% IS woklol™ okLod
2. %

Work done in moving a charge along the surface is non-zero

v 28 Stio & Bt BIY DI WS W

Electrical potential 1s same on this surface

) SO TBIES VATV Potod

Question Number : 70 Question Id : 9683555853 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mathematical expression for Gauss theorem
$od T D Qo7 2Ardod PNECme?



Options :

. 8
1 % SEEdS_ dmeg
$E.ds = Zq.€,
2.
s 2
BJQSE.G’S— =
¢E.ds = g
4, ®

Question Number : 71 Question Id : 9683555854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A particle of mass 2 gms with charge 1 ;C is stable between the plates of Parallel
plate capacitor. What is electric field intensity in the capacitor? (2=10 m/s”)
2gms @33, 1 IC %0 (o w8 Sno AATed0 DUSY SadE & Jywo I

DB, Lod Doy D[ WS FE SIS dod?

Options :

4000 V/m

1. %

5000 V/m
2. ¥

6000 V/im



7000 V/m

Question Number : 72 Question Id : 9683555855 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If di-electric constant of a material 15 1.69. the refractive index of the material 1s
w8 DEro WS gee f'gc**osﬂ 1.69, ®ond o H305d Hnge dod?

Options :

Question Number : 73 Question Id : 9683555856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If two coils of self mductance § mH and 2 mH are placed 1n such a manner that fluxes
are completely linked. What is the mutual inductance?
Coco Off ttw Ao 6m Ansen 8 MH Mdaw? mH, 6 we Saew

Jom $dFaw. eond T8 B[] pon Wrse dod?
Options :

| » 16/10 mH



, » 16mH

3 ¢ 4 mH

4 » OmH

Question Number : 74 Question Id : 9683555857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lentz law is a consequence of the law of conservation of
To& Drdo A SoB TAG” B AE), BB’

Options:

Mass
g;mgr:“%

Charge

) e30%0

Energy
#s

Momentum
@éﬁééf‘i o

Question Number : 75 Question Id : 9683555858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The relation between electric field and potential 1s
DS 2Tl B30 DS WE7IE 6 Vot 39D 260’

Options :
E=VV
1_23
E=-VV
2. ¥
E = V2V
3. %
o % E=—-VXV

Question Number : 76 Question Id : 9683555859 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2 mA current 1s flowing through the copper wire of very long. What is the magnetic
field at 1 m from the wire?
T TEDD 84 tho 2mA 3633?505 Qéﬂ?‘_‘_@éﬁl&. 9o &4 Aot 1 mErGed’

wa:b.ﬁ"beé Zo (B) dosd?

Options :
2 -10
L2 X107 T

0.5X101°T
2. 3

0.25X1010T
3. %



AX10°T

Question Number : 77 Question Id : 9683555860 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Residual intensity of magnetisation in the ferromagnetic substance is called. after the
removal of magnetic field is

w8 2§ oI 0d DEXep P BOLFed ETY) Fohedd  SWTS SrE
DADSE Z8 SddR———eotr®
Options :

Retentivity

QRN
1. ¢

Coercivity

LS00
2. %

Suscepitibility
a::sgaa@

Hysteris loss
TFOVD TR
4. %

Question Number : 78 Question Id : 9683555861 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The relative permeability of a magnetic material is 318.5. What 1s its susceptibility?

28 ©ORT08 DEYde S, FDE DOAY 3185w0nd T 202 08 Jes!?



Options :
31T

Question Number : 79 Question Id : 9683555862 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
: : =t f - B
The equation C, (V XB) = ry + = represents,
0

= dE
C, (VXB)= Ei + Bgmo Mrdowdd
0

Options :
Ampere’s law

e50.00306 Ardo
1.4

Faraday’s law
FOE Drdo

Gauss’s law
T Ardo

Lenz’s law

. Tod Ardo
4. % =



Question Number : 80 Question Id : 9683555863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two wires carrying same current in the opposite direction placing 1 cm apart will
experience
1 cm &rGodS” Bocy S’ DENS DT H(H0S B3I PITFRD. T 206

o

Options :
An attractive force mutually
DCNO es50es

ol

Repulsive force

- Dsoe
2. ® .

No force
3 % Vo ok

Attractive or repulsive
esSdes O D80
4 % ol ol

Question Number : 81 Question Id : 9683555864 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nuclear fusion process occurs at
BoBE 20dD iDL 2BAS

Options :

1. %



Very low temperature
o3[Oy aJdd S

Very high temperature

o30S &0 50
2. ¢ 2 =

Room temperature
66 eT0d 56

0K
0K

Question Number : 82 Question Id : 9683555865 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The range of nuclear force is
Sofod weUrw TR

Options :

Short range of the order of 10°m
o DD T(2107%m SO
1. J U=

Short range of the order of 10" m

LD T(2107 P m H6
2. ¥

Short range of the order of 10°m

- S8D TH10°m DB



Long range of the order of 10" m
D8, D T 10 m S0

Question Number : 83 Question Id : 9683555866 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Boson is an example of
D IS

Options :

Nucleus

1 % SoSaAW

o — particle
> % U —Sgadw

Photon
3. ¢ TP

Proton
4 % TR

Question Number : 84 Question Id : 9683555867 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In nuclear reactions. the charge must be
SogS WO, eSDBIW

Options :



Not conserved
3@5@5;3:1:: =0

Conserved
3@5@3;333
2. N

Absorbed

- T o0t

Emission

&rdo
4.% °

Question Number : 85 Question Id : 9683555868 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One Bohr magnetron 1s equal to
w8 85°6 Do) erd Dewd?

Options :

101 Am?

1. %

1019 Am?
2_ 4

105 Am?
3. %

102 Am?
4, %



Question Number : 86 Question Id : 9683555869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The average binding energy in a nucleus of an atom is
208 DOATEDY” (0 SodSo ANE), AL L0GD ¥S
Options :
1 % SKeV

8 MeV
2. ¢

g eV
3 #

80 MeV
4, %

Question Number : 87 Question Id : 9683555870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In pair production. the two particles emitted are
208) DB DE0S” &Trdo BoB Tocdd SeTen
Options:

Electron and neutron
QUS"D S0dasw arégﬁ

1. %

Electron and positron

, DVTD H0B0ED FRETD
2.4 P



Electron and proton
DOTD 0doI0 TErD

Neutron and antineutron
JUTD 200K CITFBITEPS
4.%

Question Number : 88 Question Id : 9683555871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The radius of nucleus is
So@So CIVS) T (AW
i r) =
Options :

Inversely proportional to its mass number

. GI[O°F o[ DS ATWIB0S” ot
1.

Inversely proportional to square of its mass number

GI[O°B Do) IT°E DS AFT B0 Gotd
2. %

Proportional to square of its mass number

3. v OO0 Doy ;:ng::)é 29085 A0S oD

Proportional to one third of its mass number
B3T3 Vo) & w80 B PE(1/3) HI0B) VIS AFAIBoS” ot
4. ®

Question Number : 89 Question Id : 9683555872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Alpha decay can be explained by
By S8 SABA & S08 DG DDBoTIDLY

Options :

Quantum theory of tunnelling

‘5‘“5@&.}-::: E.J:‘{ﬁc\l@c:-ﬁ i‘.&g‘“c@a
1. % '

Classical theory of tunnelling

T 030 E.Jr‘bc‘lgmﬁ AT odo
2. = ®

Bohr theory

3 % 25552] hg‘a@c

Compton effect

Ston AFodo
4, % = @

Question Number : 90 Question Id : 9683555873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Neutrino has
Ar®S ol

Options :

Zero rest mass and zero Spi_'ll

1 % RO DOPE GOTPT AB0ID RO Dy

Zero rest mass and spin half

AT 0P GS0PF S80I D R
2. ¢



Zero charge and zero spin
AT DFAD BT D WY

Zero charge and spin 1

RN TP a0BOIL i}hf_a 1
4. %

Question Number : 91 Question Id : 9683555874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hydrogen bomb works on
PE 2D eToe DI BOIN DAL
Options :

Nuclear fission

1. %

oc-decay
. X-Sed

Nuclear fusion
Sols ©00d0
v ok

p-decay
p-£eaes

Question Number : 92 Question Id : 9683555875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In nuclear reactors. which material 1s used as moderator
Argaid Boirgd & Ardded m &DATARIE,

Options :

Heavy water

e P3Pt
1.¢

Cadmium rods

- 5°¢L) 030 Scew

Steel rods

He Scen
3. ¥ o o

Uranium rods

O30B0d0 EAew
4, % =

Question Number : 93 Question Id : 9683555876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The magic numbers are
& S0& ToedeS" AR Do o

Options :

1 2.8.20.28.50.82.126



0.2.4.6.8

Question Number : 94 Question Id : 9683555877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
p- spectrum 1s
D DD ol
Options :
Discrete energy spectrum

- m{ba& bg‘ﬁ&}o

Discontinuous spectra
DS HGDeo
£ ]

Continuous energy spectrum
wiﬁ&a@ agam
3. %

All the options
@5&3}8)?&1}
.

Question Number : 95 Question Id : 9683555878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The largest wavelength in Balmer series of hydrogen emission is
2D HOHL0 S ersE BedeS STy BB SCorBG A0
i £3 ﬂ_“DZS

Options:



| Hg- line
1. %

H, - line

H._ 04
2 w0 e EP

Hy - line

H. o2
3. %

Hg line
Ha 63‘3
4. %

Question Number : 96 Question Id : 9683555879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The wave nature of light is necessary to explain the phenomenon of
& 808 T O DEAVAY Tod BOoft W(ETBo WG BEFEHE DIBFE?

Options:

Photoelectric effect

_— S o) 3}55.3593 HOS0

Compton effect

oD OIS0
2. 3 £

Black body radiation
§0 S0 Dédeo
3. %

4.



Diffraction
DIGDe

Question Number : 97 Question Id : 9683555880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Expression for Larmor frequency 1s
& Sobd TAG'GL6 FIIPTY) SVoDNFAIIA?

Options :
e
4mrmB

el

4dmm

4mm

335 Be

4dme
mB

Question Number : 98 Question Id : 9683555881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The De-Broglie wavelength for a particle of mass ‘m’ and energy ‘k’ 1s
'mEATd, ‘k'3d sDAvLOI0D St dws), ¢-t5h adon B0

Options:



Question Number : 99 Question Id : 9683555882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The energy time uncertainty principle is
FS 0L TUY WE[  BIBS| AFSAW

Options :
BE i
Ax 2T
1. %
At.AE < -
2. ® o
-\-:5' i
AJ.AGE > —
3. %
At.AE = -
2w



Question Number : 100 Question Id : 9683555883 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nuclear forces are

SoHod ererew
Options:

Long range and attractive

::i:ﬂtja“533 SnBosn es€dn
1. = —= 20

Short range and attractive
DLy T Ak esdes
2. %

Electrostatic and repulsive

26 DaogS Boda%H DEGes
3. % ® =

Gravitational and attractive

f‘bd)@“&ﬂdi‘& 0003 esSoe
4 5% ol o



